obooobooboboobobobog2oest 40 160

gb ooggoboo

p4, 17000 ¢s0000 — ¢e€l0000

p.5, 0008000 0D0DDOO0OwD — O00000w(#1)0

p6, 00057000500 <pw — <

p6, 0006000 0000 — g elU0D00O0O

U040 0odoboobooogbobogo

p.88, 9y g — gogooboo

el bodbbobooooobooo

p.132, 14000 O00OOOOO — OO0O0O0O00OO0

p.134, 0005000 Oaf@ =222, +2000000€(F)DD0OO

p.142, 15000 Q(z,(f(z)) =0 — Q(z, f(z))=0

p 43,7000 (> %71,00) —  ([%7],0,0)

q1

p143,10000 (n—7,0,00 — ([%=2],0,0)

p.146, 000 9000 j>pd|deD(lE) — j>pd|de D(i)

U8t ooobuoobuoobuoobuoobdgpbo

p.187, 000 11000 0000 iy (P)/ivg(Q) 000000
— 0000 (Lex(P)uvy(P))/(Lew (@) (Q)) DOOO OO

p187, 000 5000 a(z) e Clz]0 —  a(z) € K|z]

p.188,10000 PO GO — P OGO

p.190,1000000000 (0,1,1,000000 — 000000 (w,1,0)
0000

p.190, 0007000 z2<1,y<1 — azy<1

p.190, 0004000 <0000 — < 0O00O0



p.192, 7000 H,(D) 000000 <0000 — H,(D)ODODOOO
0 /000000 <0000

p.195, 8000 70000 PP — IMWOoOOQg P
090 0000000000000 000000000000

0900 Conv(4)0OOODOODO0O0OO0 — AO0000O0O0OOOO
O00A+#A0000000 Conv(4)=Conv(4)O0O0O000000000
00000000000 ADOO0AODO0O0OO0OOOOOODOO0000m

p.201, 0008000 00 AcCzi0000000 — DOOO0O00AD
gooo

10 bobbuogogobbobuoooon

000 Hullet —  Hulett

p.216, 0007000 an —> i

p.223,3000 22 — 22

p.236, 3000 ODOOOOOOOD — O0O0OD0ODODO
p.233, 19000 OO0 — DOODO

p.236,11000 Bi;(I) — By (1)

p.236, 12000 Byi(I) —  Bipyy(I)

p.236, 12000 Bi;(I) — By (1)

p.240, 6 0 O O Mir'o-Roig — Miré-Roig

p.240, 190 0 0O Mihliore —  Migliore



